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QUESTION 1

Which of the following best describe the purpose of the long_query_time variable?
A. Itis used to tell the server when to log a query as slow.

B. It is used to see the time it took the last longest query to run.

C. Itis used to tell the server after how many seconds to abort a query.

D. It is used to tell the server the total CPU seconds that are allotted to a client connection before it shut down.

Correct Answer: A

QUESTION 2

Which of the following best describes why InnoDB tables should always have primary keys and why they should be

short?

A. Because InnoDB uses primary keys to locate tables, and shorter keys make quicker lookups.

B. Because InnoDB uses primary keys to locate table rows, and shorter keys make quicker lookups.
C. Because InnoDB stores pointers in a log to all the primary keys and shorter keys make this log smaller.

Correct Answer: B

QUESTION 3

Which of the following best describe some possible benefits of using RAID?
A. Better user-level security.

B. Data redundancy.

C. Read performance gains.

D. Write performance gains. E. Hot-swappable disk drives.

E. Better memory and processor utilization.

Correct Answer:

QUESTION 4
Consider the following:

mysql> SELECT * FROM CountryLanguages;
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| ID | CountryName | CountryCode | Language |

| 1 | United States | USA | English |
| 2 | United States | USA | Spanish |
| 3 | Mexico | MEX | Spanish |

| 4 | Canada | CAN | English |

| 5] Canada | CAN | French |

Which of the following describe how this table would look correctly normalized?

A. Table Countries: CountryCode, CountryNameTable Languages: LanguagelD, LanguageTable CountryLanguage:
CountryCode, LanguagelD

B. Table Countries: CountryCode, CountryNameTable Languages: LanguagelD, CountryCode, Language
C. Table Countries: CountryCode, CountryName, LanguagelDTable Languages: LanguagelD, Language

D. Table Countries: CountryCode, CountryNameTable Languages: LanguagelD, CountryCodeTable CountryLanguage:
LanguagelD, CountryCode, Language

Correct Answer: A

QUESTION 5

Which of the following best describes how the relay log works?

A. It records the times when the slave connects to the master.

B. When a slave receives a change from the master, it is recorded in the relay log first and processed later.
C. When a slave receives a change from the master, it is processed first and then recorded in the relay log.

Correct Answer: B
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